Instrukcja montazu Montageanleitung
Assembling Instruction linstruction de montage

ﬂJ no 160 C EJnoﬂiOD
Q)

WS M6x20
x2 x2 A x12

H-200
H-195

1 ARMCHAIR

1
PENNY 03-2020




C_‘f] no 158

/1,

200

(@

WS M6x20
A x8

$20x2
B x4

2 ARMCHAIR

7]

PENNY 03-2020




il D I D
ﬂ] no 160 C ﬂJno154B Q

L anm

WS M6x20 WS M6x20 $20x2
x4 A x16 A x8 B x4

H-200

3 FOOTSTOOL

Zachowaj instrukcje / Please keep instructions / Bewahren Sie die Anleitung / Merci de garder linstruction | 3

PENNY 03-2020





